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(Also fill in computer sheet with name, last name first, and sign the reverse side)


Test 3: Physical Geology, EEES 1010-005, Thursday, April 3, 2008

Choose the letter of the statement that best answers the question or completes the sentence and fill in the corresponding bubble on the computer answer sheet (use a #2 pencil only).  If more than one circle is filled, no credit will be given.  All questions have 5 choices A. through E.

Chapter 8: Metamorphism and Metamorphic Rocks
1. Which of the following is not an agent or process of metamorphism? Electromagnetism
2. The parent rock of marble is limestone.
3. The parent rock of quartzite is quartz sandstone.
4. The parent rock of metaconglomerate is conglomerate.
5. The parent rock of slate is shale or mudstone.
6. The parent rock of phylite is shale or mudstone.
7. The parallel arrangement of micas and needles of amphibole usually causing the rock to split into layers is known as foliation.
8. Which is the order of increasing metamorphic grade? slate(phyllite(schist(gneiss
9. Which metamorphic rock is made mostly of the mineral calcite? Marble
10. Regional metamorphism forming large zones of metamorphic rocks are formed at ______ plate boundaries. Convergent
11. Pressure resulting from deep burial and applied equally in all direction on a rock is________ lithostatic
12. A majority of metamorphic rocks result from which type of metamorphism? Regional
13. The study of metamorphic rocks provides geologists with information about ______. All of these
	A) Earth’s interior processes
	B) regions of mountain building

	C) economically important minerals
	D) the temperature and pressure conditions under which the metamorphic rocks formed


14. Which is the order of increasing metamorphic grade? slate(phyllite(schist(gneiss
15. What type of rock is used as shingles on Libbey Hall and many other older buildings on campus? Slate
Chapter 9: Earthquakes and Earth’s Interior
16. An earthquake’s epicenter is a point on the surface directly above the source of seismic energy.

17. An earthquake’s focus is the source of seismic energy.
18. With few exceptions, the most damaging earthquakes are shallow focus.
19. A tsunami is a seismicly generated sea wave.
20. A P-wave is one in which movement is forward and back in the same direction as the wave travels.
21. It would take about _____ earthquakes with a Richter magnitude of 4 to equal the energy released in on earthquake with a magnitude of 5. 10
22. Most earthquakes take place in the Circum-Pacific belt.
23. The geothermal gradient is Earth’s temperature increase with depth.
24. Which of the following would not be present if the earth was completely solid? the S-wave shadow.
25. Which of the following is most useful in determining the distance to an earthquake? The interval of time between the P and S wave arrivals
26. How many seismograph stations are needed to locate epicenter of an earthquake? 3
27. Which of the following is a measure of the amplitude (amount) of ground motion? the Richter Scale
28. Which of the following is a subjective measure of the amount of damage caused be an earthquake?
The modified Mercally Intensity Scale

29. Through which part of the earth do P and S waves travel? The crust and mantle
30. The source of seismic energy from shallow earthquakes is elastic rebound.
31. The depth of earthquake focuses at a convergent plate boundary are are shallow at the plate boundary and become deeper along the mountain range.
Chapter 10: Deformation and Mountain Building
32. Rocks that show little or no plastic strain are said to be brittle.
33. A high angle (steep dip) fault along which the hanging wall block appears to have moved up relative to the foot wall block is a _____ fault. Reverse
34. A low angle fault along which the hanging wall block appears to have moved down relative to the foot wall block is a _____ fault. Normal
35. A low angle fault along which the hanging wall block appears to have moved down relative to the foot wall block is a _____ fault. Normal
36. Strike is defined as the _________
E) number of degrees a plane is inclined from the horizontal

F) intensity of folding and faulting in a region

G) line formed by the intersection of a horizontal plane with an inclined plane

H) process whereby new materials are accreted (added)to continents.

37. An oval to circular fold with all rocks dipping inward toward a central point is a basin.
38. An oval to circular fold with all rocks dipping outward toward a central point is a dome.
The following questions refer to the faults shown in the block diagram below (hint: use the light layer of rock to determine the directions of movement and draw arrows on the faults)

[image: image1]
39. Which feature is a hanging wall block?   B
40. Which feature is a fault scarp?   C
41. Which feature is a horst?   D
42. The faults illustrated above show ____ faulting. Normal
43. This feature is the result of tensional stress.
The following questions refer to the faults shown in the block diagrams below (hint: use the light layer of rock to determine the directions of movement and draw arrows on the faults)

[image: image2]
44. Which fault is a thrust fault? D
45. Which fault is a normal fault? B
46. Which fault is a reverse fault? A
47. Which fault is a strike slip fault? C
48. Which fault is the result of tension in the crust? B
49. Which fault is the result of shear in the crust? C
50. Which fault would be found at a divergent boundary forming beneath a continent? B
Extra Credit

The following questions refer to the faults shown in the block diagram below (hint: draw strike and dip symbols to indicate the orientation of the layers relative to the axis)
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51. The oldest rock exposed at the surface is labeled_____    A
52. The youngest rock exposed at the surface is labeled_____    D
53. The oldest rock in the entire figure is labeled_____    C
54. This feature is  an anticline.
55. The axis of this structure is labeled _____  A

56. The axis of this structure is  plunging. 
57. The lower peninsula of Michigan is a Basin.
58. The lower peninsula of Michigan is higher than the surrounding great lakes as a result of topographic inversion
59. The washboard pattern of linear ridges and valleys in Nevada is the result of horsts and grabens.
60. Death valley is a_____ graben.
61. The San Andreas fault is largely a result of shear stress
62. Compression of the earth’s crust all of the following:
I) tends to shortens the crust in the horizontal direction.

J) may produce anticlines and synclines.

K) may produce reverse faults.

L) may cause one slab of the crust to be thrust over another.

63. According to the elastic rebound theory:


A.
rocks will bend before they break


B.
rocks will snap back into their original shape after faulting


C.
rocks will break when their capacity to store energy of deformation has been exceeded


All of the above

64. Seismology has produced a great amount of information about:


A.
the mechanisms of plate tectonics


B.
the physical and chemical state of the Earth's interior


C.
the causes of mountain building


All of the above.

65. When an earthquake occurs


A. 
energy in the form of waves radiates from the point of release


B. 
deformed rocks rebound releasing energy

66. Seismology has produced a great amount of information about


A. 
the mechanisms of plate tectonics.


B. 
the physical and chemical state of Earth's interior.


C. 
the causes of mountain building.


All of the above.
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